BUS 3060

QUIZ #2

1.  The Finnerty Furniture Company, a manufacturer and wholesaler of high-quality home furnishings, has been experiencing low profitability in recent years.  As a result, the Board of Directors has replaced the president of the firm with a new president, Cindy Jenkins, who has asked you to make an analysis of the firm’s financial position.  Using the financial statement information that follows, calculate the indicated ratios for Finnerty.  (Please show all calculations.)  (3 points each)

FINNERTY FURNITURE COMPANY

BALANCE SHEET

AS OF 12/31/03

(in millions of dollars)

Current Assets:




Current Liabilities:


Cash


$
45

Accounts Payable

$
45


Marketable Securities

33

Notes Payable


45


Accounts Receivable

66

Other



21


Inventory


159





---------------




---------------


Total Current Assets
$
303

Total Current Liabilities
$
111


Net Fixed Assets


147

Long-Term Debt


24








Common Stock


114








Retained Earnings

201











---------------











$
315





---------------




---------------


Total Assets

$
450




$
450





=========




=========

FINNERTY FURNITURE COMPANY

INCOME STATEMENT

FOR THE YEAR ENDED 12/31/03

(in millions of dollars)




Net sales


$
795.0




Cost of goods sold


660.0




Selling expenses



  73.5




Depreciation



  12.0








------------------




EBIT



$
  49.5




Interest expense



    4.5








------------------




Taxable income


$
  45.0




Taxes




  18.0








------------------




Net income


$
  27.0








===========

Current ratio:

Total debt ratio:

Debt/equity ratio:

Times Interest Earned ratio:

Inventory turnover:

Days’ sales in inventory:

Receivables turnover:

Days’ sales in receivables:

Total assets turnover:

Profit margin:

Return on Assets (ROA):

Return on Equity (ROE):

Consider the following industry averages and state any comments you would make to Cindy concerning Finnerty’s liquidity, debt management, asset management, and profitability (2 points for each area—8 points total).  These comments should consist of 1 to 2 paragraphs and should not just be a recitation of what the averages were.  There should be some analysis in your work.

Industry average ratios:

Current ratio

2.0

Total debt ratio

0.30

Times Interest Earned
7.0

Days’ sales in Rec.
24 days

Total asset turnover
3.0

Profit margin

3.0%

ROA


9.0%

2. ROE


12.9%

3. (6 points)  Tokyo Motor Company’s 2002 net income was ¥346,262 on sales of ¥8,021,042.  What was the company’s profit margin?

If sales in dollars were $55,701,681, what was net income in dollars?

